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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the

table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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The number of teachers in University B is approximately ____% of the total number of teachers in

University D and University E together.

1.55
2.59
3.49
4.65

(1)
(2)
3)
(4)

A W N =

Tayfaeer B # Ria! 1 e [ayfaaned b <R e £ gl | e ekl 31 oo g&i
BIATHT %8l

1.55
2.59
3.49
4.65

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=35701] Question Description : dwbv_pg_gp14_eng_2_q1
2[Option ID=35702]
3[Option ID=35703]
4[Option ID=35704]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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17%

19%

6%

29%

18%
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If 25% of the teachers in University C are females, then what is the number of male teachers in
University C?

1.922
2.911
3.924
4.912

(1) 1
(2) 2
(3) 3
(4) 4

afe; fyufaemead c & 25 wfaa free afgan € &t fayfdaeg ¢ & gou Riast o v fod 82

1.922
2.911
3.924
4.512

(1)
(2)
(3)
(4)

Hd W N =

1[Option ID=35705] Question Description : dwbv_pg_gp14_eng_2_q2




2[Option ID=35706]
3[Option ID=35707]
4[Option ID=35708]
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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6%

29%

18%
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If Land M are the total number of teachers in Universities A, B and C together and Universities D,
E and F together, respectively, then the value of M-L is exactly equal to the number of teachers in
University .

oW
mom oo

(1)
(2)
3)
(4) 4
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1.C
2.D
3.E
4.B

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35709] Question Description : dwbv_pg_gp14_eng_2_q3




2[Option ID=35710]
3[Option ID=35711]
4[Option ID=35712]
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The following table shows the percentage (%) distribution of teachers in six different

universities A-F. Total number of teachers in university E is 1856. Based on the data in the

table, answer the questions.

University-wise Distribution of Teachers

University

Distribution (%) of Teachers
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18%

If 1/36th of the teachers from University F are Professors and salary of each Professor is X 96000

per month, then the total monthly salary of all these Professors is .

1. 307.2 lakh
2.% 3264 lakh
3. 3.072 lakh
4.7 30.72 lakh

1) 1
(2) 2
(3) 3
(4) 4

e [Gyfarad F & 1/36 T2&@ UIhER & SR U UIHER &1 do- T 96000 Ui HIE &, O 34 94

U ER| &1 &d A1 dad 2l

1.5307.2719
2.3 3264704
3.33072719
4.3 307274

(1)
(2)
3)
(4)

A W N =

1[Option ID=35713]
2[Option ID=35714]
3[Option ID=35715]
4[Option ID=35716]

Question Description : dwbv_pg_gp14_eng_2_q4
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The following table shows the percentage (%) distribution of teachers in six different
universities A-F. Total number of teachers in university E is 1856. Based on the data in the
table, answer the questions.

University-wise Distribution of Teachers

University Distribution (%) of Teachers
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What is the average number of teachers in Universities A, C, D and F together?

1.854
2.3456
3. 864
4.874

(1)
(2)
3)
(4)

fgufaened A, ¢, D 3R F IRI # fer@! @1 i Y= e 87

1.854
2. 3456
3. 864
4.874

A W N =

(1)
(2)
3)
(4)

Hd W N =

1[Option ID=35717] Question Description : dwbv_pg_gp14_eng_2_q5
2[Option ID=35718]
3[Option ID=35719]
4[Option ID=35720]
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Given below are two statements:

Statement |: DD GyanDarshan is a centre-owned television channel telecasting frem Doordarshan
Kendra and IGNOU

Statement II: DTH channels are using the GSAT-15 Satellite for programme telecasts in SWAYAM
Prabha

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
3)
(4)

CIEEAE A A
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FYT - || ; TEUHT H BHGH & UHRU & [T ST, 9T SLTH.EE-15 (GSAT-15) SUUE @I
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4. YT | 39T g, Tl &Y 1| T B

(1)
(2)
3)
(4)

A W N =

1[Option ID=35721] Question Description : dwbv_pg_gp14_eng_2_q6
2[Option ID=35722]
3[Option ID=35723]
4[Option ID=35724]

Sl. No.7
QBID:14201007

Given below are two statements:

Statement I: Cognitive Apprenticeship is a relationship in which an expert stretches and supports
a novice's understanding of and use of the cultural skills

Statement II: Scaffolding is a technique of changing the level of support from a low-skilled peer to
more skilled peer

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
2 2
3) 3
(4) 4
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1[Option ID=35725] Question Description : dwbv_pg_gp14_eng_2_q7
2[Option ID=35726]
3[Option ID=35727]
4[Option ID=35728]

Sl. No.8
QBID:14201008

Given below are two statements:
Statement |: Automaticity is the process of information with more efforts.
Statement II: Stategry construction is the discovery of new procedures for processing information.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement |l are incorrect.
3. Statement | is correct but Statement |l is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
(3)
(4)
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(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=35729] Question Description : dwbv_pg_gp14_eng_2_q8
2[Option ID=35730]

3[Option ID=35731]
4[Option ID=35732]
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QBID:14201009




In problem based learning, the word 'SMART' stands for :

1. Special Multimedia Arenas for Refining Thinking

2. Special Multiphasic Aspects for Redefining Thinking

3. Secure Multiphasic Aspects for Redetermining Texts

4. Simple Multimedia Aesthetics for Reassuring Textbooks

(1)
(2)
3)
(4)

-G HTH F, 'SMART et HRRad @f FiGP #xar gl

1. TUTA Acc MHifSd TS B wmre e
2. TS Aol hloe ey BIR RIS fifdT
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(1)
(2)
(3)
(4)
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1[Option ID=35733] Question Description : dwbv_pg_gp14_eng_2_q9
2[Option ID=35734]
3[Option ID=35735]
4[Option ID=35736]

Sl. No.10

QBID:14201010
Which of the following is the National Coordinator for SWAYAM for Nontechnical undergraduate
education?

1. UGC
2. CEC
3. NCERT
4. NPTEL

(1)
(2)
3)
(4)

Frefefad o 8 o WaH (swavam) & T R-do-iia! gd-wias R1e1 31 P77 9o &2

1. gl

2. T3

3. LS HREL
4. HOI A s

A W N =

(1)
(2)
3)
(4)

A W N =

1[Option ID=35737] Question Description : dwbv_pg_gp14_eng_2_q10
2[Option ID=35738]
3[Option ID=35739]
4[Option ID=35740]

Sl. No.11

QBID:14201011

Researchers sometimes use the common abbreviations in their reports. The abbreviation 'cf.’
means -

1. copied from

2. chapter from

3. cited frequently
4. compare




1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35741] Question Description : dwbv_pg_gp14_eng_2_q11
2[Option ID=35742]
3[Option ID=35743]
4[Option ID=35744]

Sl. No.12
QBID:14201012

Given below are two statements:

Statement I: Non-parametric tests are not easy to use and are rather slow i.e. they require
labouricus computations.

Statement II: Non-parametric tests do not suppose any particular distribution and the
consequential assumptions.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
2) 2
3) 3
(4) 4

BRI AT =
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2. @Y1 SR I GH AT B
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(1)
(2)
3)
(4)

A W N =

1[Option ID=35745] Question Description : dwbv_pg_gp14_eng_2_q12
2[Option ID=35746]
3[Option ID=35747]
4[Option ID=35748]

Sl. No.13
QBID:14201013




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The research articles published in peer-reviewed journals are taken more seriously
by experts.

Reason (R) : Peer-reviewed journals do not subject the research papers to rigorous scrutiny
because they have high impact factors.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (4).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R} is true.

1) 1
2) 2
(3) 3
4) 4

T HYH RTINS : o &I HUDHYH (A) FR G &I dd (R) Tl I g
@Y (8) : gEHe (fT9R) gftelia o-afl F weiee 2y el of fagug TiRar ¥ ad g1
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A el

Sudad ByFl @ aiE | Fyifed e § 998 S|
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T & R (R) 3GA B
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e D

1[Option ID=35749] Question Description : dwbv_pg_gp14_eng_2_q13
2[Option ID=35750]
3[Option ID=35751]
4[Option ID=35752]

Sl. No.14
QBID:14201014

If you wanted to understand the theoretical reasons that led the researchers to conduct a project,
you would read which section of their research article?

1. Abstract

2. Introduction
3. Discussion
4. References

(1)
(2)
3)
(4)

g 39 37 SgIiae SR & GASHT 916d & oy DyUddt U uRaeHT & Jgred & fod Ui
£4 11 39 o HUD! I e SHTTHE B g U &1 UeAT g7

1. R
2. UdTET
3. gfegat
4. ¥y

A W N =

1) 1




(2) 2
3) 3
4) 4
1[Option ID=35753]
2[Option ID=35754]

3[Option ID=35755]
4[Option ID=35756]

Question Description : dwbv_pg_gp14_eng_2_q14

Sl. No.15
QBID:14201015

Match List | with List 1l

List | (Type of
Research)

List Il (Description)

A. Case Study

I Variables are actively manipulated and the environment is controlled
as possible

B. Observational
Research

II. Study of behaviours in their natural settings without intervention

C. Longitudinal
Research

IIl. In-depth study of a single or a few individuals

D. Experimental
Research

IV. Study in which a group of participants is observed and measured
over time

Choose the correct answer from the options given below:

TA-LB-IL,C-1I,D-1V
2ZA-IV,B-L,C-1,D-1I
3A-IVB-LC-NILD-I
4. A-NLB-1,C-1V,D-1

(1)
(2)
3)
(4)

A W N =

Tl -1 DI Gl -1l W gafed Sif

i -1 @Y &
Rttt gt -1 (@ui)
A UHI (BE) |1 TR GhHY U U Sadiied 6T 9d § AR Tia
HTTH @I gyrya FEfEd i erar g

- \|. GX&T & a1 @1 WP Tad e § HTeR! @
B. U&Tea Y .

C.HCE Ty |||1. U U1 B odidadl ol 9u HEh

B 3afy

D. WOIGHIES  |IV. dg A2 forgd ufauifial & Ueb 9gg &1 dld

o Uefur 3R A9 a1 <1 g1

At feg 7Tg fasedl H 9 w1 9 gy

(1)
(2)
3)
(4)

1[Option ID=35757]

TA-LB-ILC-II, D-IV
2ZA-IV,B-1,C-1l, D-1I
3A-IV.B-LC-1I, D-1
4. A-NLB-1,C-1V, D-1

A W N =

2[Option ID=35758]
3[Option ID=35759]

Question Description : dwbv_pg_gp14_eng_2_q15

4[Option ID=35760]

Sl. No.16
QBID:14201016




An example of asynchronous media is -

1. The television
2. The radio

3. The cinema

4. The newspaper

(1)
(2)
3)
(4)

A W N =

SHgdIcd A1EH B UP Ialgvl % -

1. CeifaoM
2. 3fEar
3. fammr
4, THERYE

(1)
(2)
3)
(4)

d W N R

1[Option ID=35761] Question Description : dwbv_pg_gp14_eng_2_q16
2[Option ID=35762]
3[Option ID=35763]
4[Option ID=35764]

Sl. No.17
QBID:14201017

According to critics, Mass mediated transmission of culture means the transmission of -

1. High culture

2. Middle culture
3. Low culture

4. Unknown culture

(1)
(2)
3)
(4)

HIATD! & IR, TS oH-A1H! T Tpid & TR0 31 4 fHus TR 82

1. 3o G&pid
2. 7 HEpid
3. g dwpfa
4. 33d G&pfd

A W N =

(1)
(2)
3)
(4)

A W N =

1[Option ID=35765] Question Description : dwbv_pg_gp14_eng_2_q17
2[Option ID=35766]
3[Option ID=35767]
4[Option ID=35768]

Sl. No.18
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The major characteristics of digital media are :

A, Interactivity

B. Automation

C. Cheaper cost

D. Higher cost

E. Not different from analog technology

Choose the correct answer from the options given below:

1. A Band Conly
2.B,Cand D only
3.C, Dand E only
4.A, Dand E only

(1)
(2)
3)
(4)

feferd arey &t e RYwa Fa & -
A, IR-TraTE®mar

A W N R

B. TAITH
C. Tl T
D. Sl ANt
E. TATCINT JeHTaToll / UEiifTen! & 31erT =81
Tl Gy T el 5 ¥ 961 3w 9 -
1. a0 A, B3R C
2.%ad B, C AR D

3. @gaC DARE
4. Bad A, DARE

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=35769] Question Description : dwbv_pg_gp14_eng_2_q18
2[Option ID=35770]

3[Option ID=35771]
4[Option ID=35772]

Sl. No.19
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The important features of the transactional model of communication are
A. Feedback is repetitive.

B. It is mostly used for inter-personal communication.

C. The senders and the receivers of messages can inter-change their roles.
D. Feedback is simultaneous.

E. The heavy dose of noise provides a message.

Choose the correct answer from the options given below:

1.A, Band Conly
2.B, Cand D only
3.C,Dand E only
4. A, DandE only

1) 1
(2) 2
(3) 3
4) 4

YaR & YHaeRIED FHaR| (Croa=He AIsa) B Agaqul anaimdd Y 6 -
A. TG Seva B B
B. U8 HUBIR: SRaulda® GaR P 7Y SUTF Bldl g
C. TS & UND SR Ut ST YHeT H10E § 9ed 99d g
D. UTdqi® Hgoplicie Bicil &
E. TR @1 4 T® T ek el ol
- e e fas el 5 9 92l IR g -
1.Bad A, B3R C
2.%qd B, C R D

3.Had C, D3R E
4.PIAA DIAHRE

(1)
(2)
3)
(4)

A W N =

1[Option ID=35773] Question Description : dwbv_pg_gp14_eng_2_q19
2[Option ID=35774]
3[Option ID=35775]
4[Option ID=35776]

Sl. No.20
QBID:14201020

Given below are two statements:

Statement |: The media of mass comminication are in a continuous state of flux with many other
elements of human experience.

Statement II: Such a state makes their operations and effects rich as well as elusive.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1
2) 2




3) 3
(4) 4

Py Ry s

BUT - | : SH-HOR & AT AT SHA! & 9gd § 30 dadl & a1y i SifiyaTe &1 oxn H wd &
HU - 11 ; TT &= I UREeH R uiEl & 99S & 91y 91y gl el §

SUdad HYH! & A | FEfaRad [aeddl § 9 98 S 3 -

1. ®Y 1 AR 1 GH T &

2. YT | 3R 11 ST AT B

3. ®YA | 9 g, Tl &Y || HTAI 8l
4. YT | 3T g, Tl &Y 1| T 8

(1)
(2)
(3)
(4)

P W N R

1[Option ID=35777] Question Description : dwbv_pg_gp14_eng_2_q20
2[Option ID=35778]
3[Option ID=35779]
4[Option ID=35780]

Sl. No.21
QBID:14201021

A man deposits T 5000 in a bank at the rate of 12% simple interest for 2 years. He also deposits
another amount of I 5000 in another bank at the same rate of 12% compound interest,
compounded annually. Find the difference between the simple interest and compound interest
generated on the amount after 2 years

1.X72

2.31200
3.31272
4.3 272

(1)
(2)
(3)
(4)

A W N =

U oAl U dcb H 129 UILRU &6 $I &2 U &l 99 o f¢1U 5000 FYU SHI Bl ¢ | 98 U GaR S
H ol GHM 12% DI Ishgles sOTl & I %, 5000 SHI Bl & Wl At ®U J i gidl |

&l 99 S1E WYRUI 1S 3R Thafs ST BT R I Diford |

1.%.72
2.%. 1200
3.9.1272
4.%. 272

(1)
(2)
3)
(4)

d» W N R

1[Option ID=35781] Question Description : dwbv_pg_gp14_eng_2_q21
2[Option ID=35782]
3[Option ID=35783]
4[Option ID=35784]

Sl. No.22
QBID:14201022




A two digit number is 7 times the sum of its two digits. Another number, that is formed by
reversing its digits, is 18 less than the original number. Find the original number.

1.36
2.63
3.24
4.42

1) 1
(2) 2
3) 3
(4) 4

Tl Hfw! @ TP T IU GiF! HB ! & AT &7 T 51 59D APl & orH § Fefad de ga
Y=Y 18 B B YT T=A U Diford|

1.36
2.63
3.24
4.42

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35785] Question Description : dwbv_pg_gp14_eng_2_q22
2[Option ID=35786]

3[Option ID=35787]
4[Option ID=35788]

Sl. No.23

QBID:14201023
Total cost price (C.P.) of two cars A and B of different models is T 5.0 lakhs. Car A is sold at a profit
of 20% and car B is sold at a loss of 20%. However, the selling price of the two cars A and B
remains the same.

Find the cost price (C.P.) of the two cars A and B in lakhs, respectively

1.3 2.5 lakh and % 2.5 lakh
2.3 24 lakh and T 2.6 lakh
3.3 2.0 lakh and T 3.0 Iakh
4.3 2.6 lakh and T 2.4 lakh

(1)
(2)
3)
(4)

A W N =

i gl &1 BR A 3R B B fdl ARTd %. 5.0 AR g | BR A 20% b ol W &4l SIdl § 3R &R B
20% BI g1 T I 1t g1 T G BRI A 3R 8 & faswd 70 T §1 6Hf BRI A 3R B & A
e R 1 1 Fargd

1.%. 2.5 ORG 3R %, 2.5 TG
2.%.2.4 TG 3R T. 2.6 TG
3.%. 2.0 @G AR %. 3.0 A@
4.%. 2.6 TG AR . 2.4 TG

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35789] Question Description : dwbv_pg_gp14_eng_2_q23
2[Option ID=35790]

3[Option ID=35791]
4[Option ID=35792]

Sl. No.24
QBID:14201024




The sum of 7 consecutive natural numbers is 1617. Find how many of these are prime numbers?

1.2
2.3
3.1
4.4

(1)
(2)
3)
(4)

7 SHRT W Tad TSl 1IN 1617 &1 374 e SfHeg &= &7

1.2
2.3
3.1
4.4

A W N =

(1)
(2)
3)
(4)

d W N R

1[Option ID=35793] Question Description : dwbv_pg_gp14_eng_2_q24
2[Option ID=35794]
3[Option ID=35795]
4[Option ID=35796]

Sl. No.25
QBID:14201025

In a certain coded language;

A) ‘ana ilo gao’ means ‘humans are good'’

B) 'gao nado da' means ‘good and bad'

C) 'diilo da’ means 'they are bad’

In this coded language which words stands for 'and’ & 'they'?
Vilo® & di’

Vilo" & 'da’

.'nado’ & ‘da’
‘nado’ & ‘di’

duo o =

(1)
(2)
3)
(4)

d» W N =

T3 FfEd Geag v o -

A) ST ST ST BT 3 § A s B

B) I3l TS 3T BT Y ¢ "33 IR PR
ofssasrmadfg IR e

Y Peds U H 3R 1d 4" & U & U et 87

(1)
(2)
3)
(4)

A W N =




1[Option ID=35797] Question Description : dwbv_pg_gp14_eng_2_q25
2[Option ID=35798]
3[Option ID=35799]
4[Option ID=35800]

Sl. No.26
QBID:14201026

"Mary Com's coaches say that she has a real gift for boxing. So because her skill is a gift, she
doesn't deserve any credit for it." Which informal logical fallacy is committed in the above
statement?

1. Appeal to authority
2. Red Herring

3. Equivocation

4. Begging the Question

(1)
(2)
3)
(4)

A W N =

“IIPIT & URIDI BT Bl 6 [ SuD UM HadbaToll 1 aRaid® UiaHT § | Tl 3@ DR
3410 G §, ofd: T8 39D og [ou! i 49 3 U T 1

TIRIed FYT H BH-T1 SHGIE dlihd oy 82

1. WITHPR e
2.3sef

3. S@mrddr
4. ST

(1)
(2)
3)
(4)

A W N =

1[Option ID=35801] Question Description : dwbv_pg_gp14_eng_2_q26
2[Option ID=35802]
3[Option ID=35803]
4[Option ID=35804]

Sl. No.27
QBID:14201027

Which of the following propositions are logically equivalent?
A. No women are arrogant human beings.

B. No arrogant human beings are women.

C. All women are non-arrogant human beings.

D. All non-arregant human beings are non-women,

Choose the correct answer from the options given below:

1.A and D only

2.A Band Conly
3.A, Cand D only
4.B,Cand D only

(1)
(2)
3)
(4)

A W N =




Fofafad o 9 oR-@ vfasitag afée T T &2
A. ISl fgar DRI A TRl B
B. B3 Hl 3EH I AW, AR T8l &
C. gl Higam R-EHR #19 &
D. I TR-3EPRI 79, TR-AfGAI &l
e TG e el # 9 9el I 2 -
1.Had A 3R D
2.%ad A, B3R C

3. ®Hga A CHRD
4. %ad B, C 3R D

(1)
(2)
(3)
(4)

d» W N =

1[Option ID=35805] Question Description : dwbv_pg_gp14_eng_2_q27
2[Option ID=35806]
3[Option ID=35807]
4[Option ID=35808]

Sl. No.28
QBID:14201028

If the statement ‘some cricketers are not bowlers’ is given as false, then which of the following
statements can be immediately inferred to be false?

1. Some bowlers are cricketers.
2. Some cricketers are bowlers.
3. All cricketers are bowlers.
4. No cricketers are bowlers.

(1)
(2)
(3)
(4)

It Ty TS fde faae! fiea T8l & @ o0d fGa T g, d FEfea d en-a oA @
@ ® U ¥ d i @1 STHH gl off Gadl 57

1. P Teard fbae Garsl g1
2. 8 e Earg! ficad g1
3. Juff fopore el fiea= B
4. 313 i frope faars! figas el |

A W N =

(1)
(2)
(3)
(4)

W N =

1[Option ID=35809] Question Description : dwbv_pg_gp14_eng_2_q28
2[Option ID=35810]
3[Option ID=35811]
4[Option ID=35812]

Sl. No.29
QBID:14201029




Which of the following statements are so related that they cannot both be false, although they
may both be true?

A. Some women are multitaskers.

B. All women are multitaskers.

C. Some women are not multitaskers.

D. No women are multitaskers.

Choose the correct answer from the options given below:

1.Band Conly
2.Band D only
3. A and D only
4. A and Conly

(1)
(2)
(3)
(4)

A W N R

wﬁﬁﬁq-ﬁﬁmwmﬁﬁ%%%éﬁmﬁﬁ%ﬁwﬁlﬁaﬁ'wﬁr
|
A. BB Higal sg3gH &
B. it Afget Sg3eH g
C. o Algat gg3oH 6l o
D. ®I5 i Afe sgaH Tel 31
e TG e fasedl # 9 92l 9w 2 -
1.%aa B AR C
2.%ad B 3R D

3. ®HaaAMRD
4. PaA A AR C

(1)
(2)
3)
(4)

A W N R

1[Option ID=35813] Question Description : dwbv_pg_gp14_eng_2_q29
2[Option ID=35814]
3[Option ID=35815]
4[Option ID=35816]

Sl. No.30
QBID:14201030

According to classical Indian School of Logc (Nyaya) which of the following steps of inference
involves synthesis of major term (sadhya), middle term (hetu) and the minor term (paksa)?

1. Heraclitus is mortal.
2. Because he is a man.
3. Whoever is a man is a mortal, e.g. Parmanides.
4. Heraclitus is a man who is invariably a mortal.

(1) 1
(2) 2
(3) 3
(4) 4




YRATY ARG () a6 04 & S8R 39 & 69 @0 § 5= UG (9@19), 99 UL () 3R a9Ua
(U&) BT YS9l QiAferd gidl 82

1. SfGTeg TR B

2. 71 38 U AW & |

3.9t AW B, 98 AR ©, O uHie |

4. BURGETCH UF A & ol % FRuae S0 3 3R 31

(1)
(2)
3)
(4)

A W N =

1[Option ID=35817] Question Description : dwbv_pg_gp14_eng_2_q30
2[Option ID=35818]
3[Option ID=35819]
4[Option ID=35820]

Sl. No.31
QBID:14201031

In ICT, which one of the following pair of acronyms and its expansion are incompatible?

1..gif - Graphics Interchange Format

2. .css - Cascading Style Sheet

3. .rar - Readable ARchive

4. jpeg - Joint Photographic Expert Group

1) 1
(2) 2
3) 3
4) 4

.41, F Fafafad 9 S99 uRaul 2 3R 39aT [asRuT 3Ed 82

1. 57 318 UB - Ifthed = Bide

2. W T9 TH - Humie wEd e

3. R TR - {39 AHi5a

4. S U S o - Sige BIHIhd TeUe gu

(1)
(2)
3)
(4)

A W N =

1[Option ID=35821] Question Description : dwbv_pg_gp14_eng_2_q31
2[Option ID=35822]
3[Option ID=35823]
4[Option ID=35824]

Sl. No.32
QBID:14201032




Identify the correct order of the following terms A-D to complete the sentences given below:

The action of sending emails to fraudulently obtain another person's bank details is called
The action of illegally installing malicious code which redirects a person to a fraudulent website
with the purpose of obtaining that person's bank details is called . Unsalicited bulk emails

are called . The action of sending text messages to fraudulently obtain another person’s
bank details is called

A. Pharming

B. Smishing

C. Phishing

D. Spam

Choose the correct answer from the options given below:

1.CADB
2.8 CB D
3.B,ADC
4.D,ACB

1) 1
(2) 2
(3) 3
(4) 4

i faw g a1l @1 Q11 B & o A-D & FHfiiad yal & 981 H @1 ugaH Bl

3] TG BT §P [GaR0 U B3 & (o0 HULU ¢ 4 08 Yo &1 fpai @l _____ ®el il 8l
U0l IS DI 33y T Y YR B3 @1 361, s 0 aafdd &1 o [GaR0r U & & uaie
U 3 U HUSl e &l [HINd B4 Bl Hel oldl ol &3 71l 715 sfis (@em) I
®l_____ ®el 9l 8| 3 ofad &1 HUeqYl &1 U 9 a0 UTd &3 & (o U8 -Te gl & e
BIfFa®___ seIaarsl

A, TBTTEHT

B. T

c. fifRm

D. ¥

i feu e fadedl & 9 981 S| g -
1.C,ADB
2.A,CBD

3.BADC
4.D,ACB

(1)
(2)
3)
(4)

A W N =

1[Option ID=35825] Question Description : dwbv_pg_gp14_eng_2_q32
2[Option ID=35826]
3[Option ID=35827]
4[Option ID=35828]

Sl. No.33
QBID:14201033




Given below are two statements:
Statement I: (240)10 = (11110000);
Statement II: (101011111101010); = (57EA)1g

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement |l are incorrect.
3. Statement | is correct but Statement |l is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
2) 2
3) 3
4) 4

Tad P RuME:

U - | : (240)10 = (11110000);

BYF - 112 (101011111101010); = (57EA) 16

Iugdd Yl & el | FEfdiiad [aocdl § 9 98 Iw 44 -

1. @Y1 AR 1 G TT

2. T | SR I EH AT B

3. @Y | T &, Wit @ 11 3T B
4. T | T B, e 7Y 1 TT &

(1)
(2)
3)
(4)

A W N =

1[Option ID=35829] Question Description : dwbv_pg_gp14_eng_2_q33
2[Option ID=35830]
3[Option ID=35831]
4[Option ID=35832]

Sl. No.34
QBID:14201034

Which of the following file types are containers which can hold number of files with different
types?

A. Moving Pictures experts group layer 4 (mp4)

B..mp3

C..rar

D. .zip

Choose the correct answer from the options given below:

1.Cand D only
2.B.,Cand D only
3.A, Cand D only
4. A, B, CandD

(1)
(2)
3)
(4)

d W N =




ofafad 4 9 o0 BRA-USR HUH (@cTd) B, S fid ISR S 3 BIEdl &f 4@ 9ad o7
A, 7d ey tandy I9 TER-4 (W)
B. THUI3
C.R
D. form
e U e el # 9 9El I 2 -
1.%ad C 3R D
2.%ad B, C 3R D

3. @ga A CHRD
4.A B, C3HRD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=35833] Question Description : dwbv_pg_gp14_eng_2_q34
2[Option ID=35834]
3[Option ID=35835]
4[Option ID=35836]

Sl. No.35
QBID:14201035

Match List | with List 11

List-l (Automatic Data

List-1l (Descripti
Capture Method) ist-Il (Description)

. . l. Reading data directly from hard copy and converting into
A. Biometrics
computer - readable form

Il. Use of fingerprint scans, retina scans, face identification etc. as a

5 OCR way of identifying a person uniguely

C OMR 1. Use of minute electronic devices {containing microchip and
antenna) that can be read from distances up to five meters

5 REID IV. System that reads pencil or pen marks on a piece of paperin pre-

determined positions

Choose the correct answer from the options given below:

TA-ILB-1LC-1IV,D-1
2ZA-LB-ILC-1V, D-1I
3A-NLB-IV,C-1,D-1
4. A-IV,B-L,C-1,D-1I

1) 1
(2) 2
3) 3
(4) 4




-1 B G- e S

1. B1S 1Yl ¥ WY Se1 &1 U+ 3R HIe-Us-g
A TEHCE —

II. TG BT IS G719 UgdH- & U adld &
B. 1.4 HR. U T fA-BTY BT WA, e B Wb, 95 DI

Tg A 3G BT SR

111 3 HIZeh 1Y Ud UeHI alell Y& gaaeiHd
C. A THIR. gl (feargde) 1 IuNT fog uld Hiek ad

®I g8 U Ul ol Ubdl &

v, g woelt, o ga-Fiia fufaal § ve e
D. HRTP I mﬂﬁqwaqé%ﬁm%
e feu e faweat & 9 O S g

TA-ILB-1,C-IV, D-1l
2ZA-LB-ILC-IV, D-1I
3A-NLB-IV,C-1, D-1I
4. A-IV,B-1,C-1, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35837] Question Description : dwbv_pg_gp14_eng_2_q35
2[Option ID=35838]

3[Option ID=35839]
4[Option ID=35840]

Sl. No.36
QBID:14201036

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Since pre-industrial times carbon dioxide has contributed maximum to the global
warming.

Reason (R): Carbon dioxide has highest Global Warming Potential (GWP).

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1)1
(2) 2
3) 3
(4) 4




TR B RUTUE : @ BT B (4) IR g B db (R) BT 8|

HF (A) : - MfE @1 T B SEMEIES 3 af® ariq ¥ Hfiean oeH Farg)
T (R) : PIE S1BHGES DI AP dud TYHT S=ad 8

Iude Bl b HTeile H FHifed fabdl § 9 w8l 3w I -

1. (A) 3R (R) GFI T2 § 91R (R), (A) DT U6l ARAT B |
2.(A) IR R) aﬁ‘fﬂﬁ%mﬁ )ﬁﬂﬁw:@%l
3. (A) G981 & IR R}ﬂ'apr:ra"ré'l
4. (A) S TS 8 g (R) TSI B
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=35841] Question Description : dwbv_pg_gp14_eng_2_q36
2[Option ID=35842]
3[Option ID=35843]
4[Option ID=35844]

Sl. No.37
QBID:14201037

Given below are two statements:

Statement I: Dioxins and other chlorinated hydrocarbons have been shown to accumulate to
dangerous levels in fish and fish eating birds.

Statement II: Dioxins are highly toxic; even exposure to its extremely low concentration can cause

birth defects, genetic disorder and cancer.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement |l is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
3)
(4)

HY - |- U1 SR T ¢ & Aefdl iR aed WH aTd ufgE! & SEifdnd IR o daRiF gad
IS SIdIe- B Waild &Rl db Yag- gidl g |

DU - 1| : SEGE e A 81 & 3R 39T s g Saw=u gy off 5+ QY Saes
o 3R I &1 IRS & Tl 2|

IuYad Bl & el | FEfiigd [aeedl § 9 98 3w 94 -

1.4 | 3R 11 S wRl B
2. @Y R I GH TAd B
3. @Y | Wel &, With @Y 1 Tad &
4. YA | T &, AH P 1 Tl 8l

A W N =

(1)
(2)
3)
(4)

A W N =

1[Option ID=35845] Question Description : dwbv_pg_gp14_eng_2_q37
2[Option ID=35846]
3[Option ID=35847]
4[Option ID=35848]

Sl. No.38
QBID:14201038




Given below are two statements:
Statement I: In a breeder reactor more fissile material is produced than it is consumed.

Statement II: In a breeder reactor, breeding works best with slow neutrons and hence moderators
are required.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement |l are incorrect.
3. Statement | is correct but Statement |l is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
3)
(4)

A W N =

BIERAE AR
BU - | : UoD RUgeR H, 59% @ud &1 ga1 § 4fie agsy (ruse) amsl 3o s &

B - || : ToD Rugex § uoiH &1 €18 e & 91y Yatad gl & iR i Heef @t
HgRgEHdr gidl &l

Iudad Byl & Tclld H FafiRad e edl & 9 wel SR 94 -

1. @Y1 3R 11 GH Tal 8l
2. YA 1 3R 1 gH e g
3. @Y | Tel &, Tite @Y [ Tad 8
4. @Y | T &, Al DU 1 T8l 8l

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=35849] Question Description : dwbv_pg_gp14_eng_2_q38
2[Option ID=35850]
3[Option ID=35851]
4[Option ID=35852]

Sl. No.39
QBID:14201039

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Acidity in water with pH level above 5 has detrimental effect on aquatic life.
Reason (R) : Water with pH value between 5 to less than 7 is of acidic nature.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (4).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R} is true.

1) 1
(2) 2
(3) 3
4) 4




TR P RUME: 1@ B Gy (4) IR GW B db (R) Del T8
SHUPHYT (A) : TG H, 5§ =7 U0T W BT RG] B SIad siig IR HeddRI U4TE gial 81
T (R) : 5 9 A SR 7 ¥ &H UTd 7 aTe 9 &id Udid DI eldl 8|

Iude Bl b HTeile H FHifed fabdl § 9 w8l 3w I -

1. (A) 3R (R) THI U@ & 3R (R), (A) B T8I TR & |

2. (A) 3R (R) GFT @ 8, T (R), (4) T T&! TRAT T8 B
3. (A) T &, Tfd (R) 3 B

4. (A) 39T §, W (R) T B

(1)
(2)
3)
(4)

A W N =

1[Option ID=35853] Question Description : dwbv_pg_gp14_eng_2_q39
2[Option ID=35854]
3[Option ID=35855]
4[Option ID=35856]

Sl. No.40
QBID:14201040

Full form of PAN, a type of air pollutant, is -

1. Peroxyacetyl nitrates
2. Peroxyacetyl nitrites
3. Polycyclic acyl nitrates
4. Polycyclic acyl nitrites

(1)
(2)
3)
(4)

A W N =

TP UBR & a1 Ugu® U T U () @& guf 0 Faffed d § o @ g2

1. RiFf e d Agecd
2. RIFeferEd ArgerEey
3. giferasfdas Ua A1geey

4. Uicramsfoa® Thrd gy

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=35857] Question Description : dwbv_pg_gp14_eng_2_q40
2[Option ID=35858]

3[Option ID=35859]
4[Option ID=35860]

Sl. No.41
QBID:14201041

The National Education Policy, 2020, also focuses on

1. Coastal area education

2. Hill area education

3. Foreign education through Indian languages
4. High quality education in Indian languages

(1)
(2)
3)
(4)

A W N =




T et ife, 2020 FafaRad 9 @ fd W+ & $fsd ol &7

1. Teae & e
2. UgTS! & Fam
3. YR Uit & Ay 9 fageh R
4. YR HETet ¥ 3= UaaraR® R

(1)
(2)
3)
(4)

A W N =

1[Option ID=35861] Question Description : dwbv_pg_gp14_eng_2_q41
2[Option ID=35862]
3[Option ID=35863]
4[Option ID=35864]

Sl. No.42
QBID:14201042

Given below are two statements:

Statement I: Before Independence, the Britishers failed to create a national system of higher
education in India.

Statement II: After 1947, the University Education Commission (1948-49) was mandated to
suggest improvement to suit the needs of higher education in India.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
3)
(4)

A W N =

T gl Py U U R :
HU - | - WA U Ud e 2 YRd H APy 3= e yordl & i 7 fawa =1

WU - 11 : 1947 $ 916 [AYGTerg FI&T 3TN (1948-49) B YRA & IR [X& B sMazgmar &
30 UR! & aR # GAd o & oy siferesn feam mmar o

IuYdd Bl & el | FEfiigd [aeedl 9 98 3w 44 -

1. @Y1 AR I G FA B

2. @A R I GH AT B

3. @Y | T 8, Tt du 11 3T &
4. T | T B, WpT Iy | T B

(1)
(2)
3)
(4)

A W N =

1[Option ID=35865] Question Description : dwbv_pg_gp14_eng_2_q42
2[Option ID=35866]
3[Option ID=35867]
4[Option ID=35868]

Sl. No.43
QBID:14201043




Which of the following presidents of India was basically an academician?

1. Gyani Zail Singh

2. Pranab Mukharjee

3. APJ Abdul Kalam

4. Sarvapalli Radhakrishnan

(1)
(2)
3)
(4)

YRA & R Aguiaal § ¥ SIF 40 U | U SAPTGHIRIL 912

1. 91 oI R
PRsUGEG

3. QUL S, 3fegdl da™
4. FAUT AUHUH

A W N =

(1)
(2)
(3)
(4)

d W N R

1[Option ID=35869] Question Description : dwbv_pg_gp14_eng_2_q43
2[Option ID=35870]
3[Option ID=35871]
4[Option ID=35872]

Sl. No.44
QBID:14201044

What are the principles identified by NEP 2020, document for higher educational changes?
A. Strict Separation between arts and science

B. Education as a private service

C. Development of multi-disciplinarity

D. Extensive use of technology

E. Promotion of ethical and constitutional values

Choose the correct answer from the options given below:

1.4, Band Conly
2.B, Cand D only
3.C,Dand E only
4. A DandEonly

(1) 1
2) 2
3) 3
4) 4




F= Toren & &7 & uftad & o 73 fRren if, 2020 & geaaw & Fefafea o © o7 fagiat &
fafea e mar &2

A, B SR 6T & did HoR JUTH]
B. U il UaT & & U H e
C. 9g-lavgad @1 fae™
D. UIeiffieh! 1 SIUe JUGHT
E. Afde SR Hau-e Heal o diems oA
el ey 1 el # 9 91 ST g -
1. Had A B3R C
2.%dd 8, CIARD

3.%aaC DIARE
4.PgaA DIARE

(1)
(2)
3)
(4)

A W N =

1[Option ID=35873] Question Description : dwbv_pg_gp14_eng_2_q44
2[Option ID=35874]
3[Option ID=35875]
4[Option ID=35876]

Sl. No.45
QBID:14201045

Which of the following are major problems faced by the higher education system in India?
A. Richly funded public universities

B. A water-tight compartmentalisation of disciplines

C. Restricted teacher and institutional autonomy

D. Less emphasis on quality research across disciplines

E. Affiliating universities with a few colleges of undergraduate programme

Choose the correct answer from the options given below:

1. A B and Conly
2.B, Cand D only
3.C, Dand E only
4. A DandEonly

1 1
(2) 2
3) 3
4) 4
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(1)
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3)
(4)
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1[Option ID=35877] Question Description : dwbv_pg_gp14_eng_2_q45
2[Option ID=35878]
3[Option ID=35879]
4[Option ID=35880]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

"In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts

and crafts.
“Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral

knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fag e Y @ ufew ofiT wst ®1 IR ST

ST fa |J1fR gaid G €, 509 oS o Sud <9, Hakil & Sudicddi a7 & aR § 9gd
HEP TSR &1 HUH Gl 53 g0, difHal RUT Ta1E I & WIeR & O @ aul ao e
@Y & UHId Sl §YH THEW (@HHC) & s ¥ fRyd, eiu4 71id died @1 g fean gge @
S (el Gg & w1 2l 1ff 954 B¢ 9o Uld-Ued Tl W Rk €19 753 o o & uw
god WEd & o Ry eI AP Ul & R W M e §1 2rsiT uredl & 998 SR gt
M B THAIAl & WY B B &1 URASHT BT I5=d TR 3R FgrRdl gRT WREd & &
UTey USicdl & R H S8R JH U 3ugi Yo B Bl

“fpaTg Ui - WfeT forad €, T SaR § UG aiadl IR U@ i &1 g1 9 1= axdd 4
& 39 AHaal og SUErRT UGyl ¥ X[E @R 4000 TS [ ¢ | A9, @ SR Swad) uieul &
HergA faifad e e 81 f5aw orsi A 4f 9 39 weR uRem SeM1 9! @ oY v o i
UGY SUR® AU I H @Xd &1 3 9 a9 H SugRT o aral Ofed 918 & 98 R EH $isd avd
g O MY SEE 5 ifd Hed @ ol 3 341 @1 SUGNT @I SR WA 9y & w0 H, B
AR & w0 H, Tl a9 F, 3R $an iR e & e I g1

TR I W G URRUfGeE areedl Affd &4 @ o= & - 3TE & o §9F
URGISHIT Siciliad, HHEH, Aiid], ISl R Biedrs a2l § Iori o W gl U uRaeHT gd &
TRl BT 3UaT S Bagr Uifad gl Udhdl § ®ifds d 34 RIFM ANl & Fgdiv ¥ Tiferd &1 o
R E Sl g Bl T FU I T 71

How many plant collectors are working in the project referred to in the first two paragraphs of the
passage?

1.6
2.5
3.4
4.7

(1)
(2)
3)
(4)

A W N =




T % Ued &l ATesal (R & Wefiid fra urey Yure e ufkaie T ¥ a1 R @ §7
1.6
2.5

3.4
4.7

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35881] Question Description : dwbv_pg_gp14_eng_2_q46
2[Option ID=35882]

3[Option ID=35883]
4[Option ID=35884]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided te return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers,
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

“In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts
and crafts.

"Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral
knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

Fr faw 7T TRy @ uf3w iR ust #1 IR S

ST 6 e gaid e B, f3aw orsi of S99 X, HoRMT & Susfesdy a7 & IR H 9gd
Hfiw THERI &1 o0- wrgef 3 gy, i Rrd gare g & wifteRnl & o 9% anl ao ol
T & UHd Soi- 5O SeM (@) & T H R4, ot Tiia died @1 Mg o g W@
2 (Rl Tg & ot 3nh off 954 5a 9@ Ugia-uex deil R FR 819 753 @ fhdiie & w@
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M B THAITAl & 91 B S © | UGN B I5=d TR SR SgEdl §R1 WREd aAt §
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Heygd i Ty T €1 f3a9 ersin 4 4l 3 34 UaR Ry 9gH1 9”1 4@ oY fés 31 Ui
UGY YU AU Il H & 21 3 9d §9H H IugRT A ardl Tfgd 18 & g8 R 9H $iad B
T S R S g fi® Ted & gl 37 g6 o1 SUah WY R W Ny & w0 §, 3d
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TSI e aa, SHe, Higddl, Tiie] AR hLiadrs ol J gar of 38l 81 4 uRaieq gd &
TGl @1 HAUET P B! diiad 8 Jdbdl & Hid d 34 RIME Arll & JeanT § Tarerd @i off
T8 ol a1 @l AT ®T Y T 21




Given below are two statements:

Statement |: Tadong, a native of Borneo Island, is an outsider in the Dusun community.
Statement Il: Tadong currently works with the Sabah State Authority.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35885] Question Description : dwbv_pg_gp14_eng_2_q47
2[Option ID=35886]
3[Option ID=35887]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

"In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts

and crafts.
“Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral

knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fag e Y @ ufew ofiT wst ®1 IR ST

ST fa |J1fR gaid G €, 509 oS o Sud <9, Hakil & Sudicddi a7 & aR § 9gd
HEP TSR &1 HUH Gl 53 g0, difHal RUT Ta1E I & WIeR & O @ aul ao e
@Y & UHId Sl §YH THEW (@HHC) & s ¥ fRyd, eiu4 71id died @1 g fean gge @
S (el Gg & w1 2l 1ff 954 B¢ 9o Uld-Ued Tl W Rk €19 753 o o & uw
god WEd & o Ry eI AP Ul & R W M e §1 2rsiT uredl & 998 SR gt
M B THAIAl & WY B B &1 URASHT BT I5=d TR 3R FgrRdl gRT WREd & &
UTey USicdl & 9R H §8aR J1H Ud Sugi goH S Bl

“fpaTg Ui - WfeT forad €, T SaR § UG aiadl IR U@ i &1 g1 9 1= axdd 4
& 39 AHaal og SUErRT UGyl ¥ X[E @R 4000 TS [ ¢ | A9, @ SR Swad) uieul &
HergA faifad e e 81 f5aw orsi A 4f 9 39 weR uRem SeM1 9! @ oY v o i
UGY SUR® AU I H @Xd &1 3 9 a9 H SugRT o aral Ofed 918 & 98 R EH $isd avd
g O MY SEE 5 ifd Hed @ ol 3 341 @1 SUGNT @I SR WA 9y & w0 H, B
AR & w0 H, Tl a9 F, 3R $an iR e & e I g1

TR I W G URRUfGeE areedl Affd &4 @ o= & - 3TE & o §9F
URGISHIT Siciliad, HHEH, Aiid], ISl R Biedrs a2l § Iori o W gl U uRaeHT gd &
TRl BT 3UaT S Bagr Uifad gl Udhdl § ®ifds d 34 RIFM ANl & Fgdiv ¥ Tiferd &1 o
R E Sl g Bl T FU I T 71

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Earlier projects in the region were not very fruitful in achieving what they were
aimed at.

Reason (R): Earlier projects were conducted without cooperation and support of the local pecple.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.




1) 1
(2) 2
(3) 3
(4) 4
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3. (A) TR & I (R) WEl eI ¢

4. (A) 981 TR € W (R) WET B

(1)
(2)
3)
(4)
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1[Option ID=35889] Question Description : dwbv_pg_gp14_eng_2_q48
2[Option ID=35890]
3[Option ID=35891]
4[Option ID=35892]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

"In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts

and crafts.
“Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral

knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fag e Y @ ufew ofiT wst ®1 IR ST

ST fa |J1fR gaid G €, 509 oS o Sud <9, Hakil & Sudicddi a7 & aR § 9gd
HEP TSR &1 HUH Gl 53 g0, difHal RUT Ta1E I & WIeR & O @ aul ao e
@Y & UHId Sl §YH THEW (@HHC) & s ¥ fRyd, eiu4 71id died @1 g fean gge @
S (el Gg & w1 2l 1ff 954 B¢ 9o Uld-Ued Tl W Rk €19 753 o o & uw
god WEd & o Ry eI AP Ul & R W M e §1 2rsiT uredl & 998 SR gt
M B THAIAl & WY B B &1 URASHT BT I5=d TR 3R FgrRdl gRT WREd & &
UTey USicdl & 9R H §8aR J1H Ud Sugi goH S Bl

“fpaTg Ui - WfeT forad €, T SaR § UG aiadl IR U@ i &1 g1 9 1= axdd 4
& 39 AHaal og SUErRT UGyl ¥ X[E @R 4000 TS [ ¢ | A9, @ SR Swad) uieul &
HergA faifad e e 81 f5aw orsi A 4f 9 39 weR uRem SeM1 9! @ oY v o i
UGY SUR® AU I H @Xd &1 3 9 a9 H SugRT o aral Ofed 918 & 98 R EH $isd avd
g O MY SEE 5 ifd Hed @ ol 3 341 @1 SUGNT @I SR WA 9y & w0 H, B
AR & w0 H, Tl a9 F, 3R $an iR e & e I g1

TR I W G URRUfGeE areedl Affd &4 @ o= & - 3TE & o §9F
URGISHIT Siciliad, HHEH, Aiid], ISl R Biedrs a2l § Iori o W gl U uRaeHT gd &
TRl BT 3UaT S Bagr Uifad gl Udhdl § ®ifds d 34 RIFM ANl & Fgdiv ¥ Tiferd &1 o
R E Sl g Bl T FU I T 71

The project plans to study plants which are useful for -

A Timber

B. Medicine

C. Decoration

D. Food

Choose the correct answer from the options given below:

1. A B and Conly
2.A Cand D only
3.A Band D only
4.B, Cand D only

1) 1




) 2
3) 3
(4) 4

utdierHn # Frafaiad 7 O fevae o/l Suaiht ureul &1 sregae Faifera 82
A, TR TSl
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1.ba A, B3R C
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3.%ad A B3R D
4.%9a B, C AR D
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(2)
3)
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1[Option ID=35893] Question Description : dwbv_pg_gp14_eng_2_q49
2[Option ID=35894]
3[Option ID=35895]
4[Option ID=35896]
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Read the passage and answer the questions that follow

As Martin tells the story, Dius Tadong knows a great deal about the tropical forest in his country,
Malaysia. After working for several years all over his native island, Borneo, for the Sabah State
Forest Authority, he decided to return to his home village, part of the Dusun community. The
Dusun are an indigenous group who still depend to a large extent on what nature provides. They
live on the edge of the Kinabalu National Park, a large protected area of 753 square kilometers.
Tadong works with the villagers to collect and list plants. The project aims at providing better
knowledge and use of plant species in protected regions by providing training and assistance.

"In Kinabalu Park,”, Martin writes, "the first stage consists of drawing up an inventory on rich flora,
believed to include about 4,000 species, starting with plants that are useful to humanity. Studies of
medicinal, edible and decorative plants are planned. Dius Tadong continues to cultivate the land,
just as the other five plant collectors still work in their villages. They concentrate on palm trees,
including those used to make cane, which are of crucial importance to the local population. The
trees are used as food and in traditional medicine, as roofing material, to make rope, and in arts

and crafts.
“Similar projects are underway elsewhere - in Bolivia, Cameroon, Mexico, Uganda and the
Caribbean for instance - in the hope of building ecological awareness based on ancestral

knowledge. These projects may turn out to be more rewarding than previous efforts because they
are being conducted in cooperation with the local people who know the forest intimately.”

= fag e Y @ ufew ofiT wst ®1 IR ST

ST fa |J1fR gaid G €, 509 oS o Sud <9, Hakil & Sudicddi a7 & aR § 9gd
HEP TSR &1 HUH Gl 53 g0, difHal RUT Ta1E I & WIeR & O @ aul ao e
@Y & UHId Sl §YH THEW (@HHC) & s ¥ fRyd, eiu4 71id died @1 g fean gge @
S (el Gg & w1 2l 1ff 954 B¢ 9o Uld-Ued Tl W Rk €19 753 o o & uw
god WEd & o Ry eI AP Ul & R W M e §1 2rsiT uredl & 998 SR gt
M B THAIAl & WY B B &1 URASHT BT I5=d TR 3R FgrRdl gRT WREd & &
UTey USicdl & 9R H §8aR J1H Ud Sugi goH S Bl

“fpaTg Ui - WfeT forad €, T SaR § UG aiadl IR U@ i &1 g1 9 1= axdd 4
& 39 AHaal og SUErRT UGyl ¥ X[E @R 4000 TS [ ¢ | A9, @ SR Swad) uieul &
HergA faifad e e 81 f5aw orsi A 4f 9 39 weR uRem SeM1 9! @ oY v o i
UGY SUR® AU I H @Xd &1 3 9 a9 H SugRT o aral Ofed 918 & 98 R EH $isd avd
g O MY SEE 5 ifd Hed @ ol 3 341 @1 SUGNT @I SR WA 9y & w0 H, B
AR & w0 H, Tl a9 F, 3R $an iR e & e I g1

TR I W G URRUfGeE areedl Affd &4 @ o= & - 3TE & o §9F
URGISHIT Siciliad, HHEH, Aiid], ISl R Biedrs a2l § Iori o W gl U uRaeHT gd &
TRl BT 3UaT S Bagr Uifad gl Udhdl § ®ifds d 34 RIFM ANl & Fgdiv ¥ Tiferd &1 o
R E Sl g Bl T FU I T 71

Given below are two statements:
Statement I: Dusun community lives inside the Kinabalu National Park.

Statement II: The project plans to fulfil its aim by utilizing the traditional knowledge of local
people

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=35897] Question Description : dwbv_pg_gp14_eng_2_q50
2[Option ID=35898]
3[Option ID=35899]
4[Option ID=35900]

Paper II : 21-Kannada
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1[Option ID=36301] Question Description : dwbv_pg_kan_kan_2_q1
2[Option ID=36302]

3[Option ID=36303]
4[Option ID=36304]
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1) 1

(2) 2

(3) 3

4) 4

1[Option ID=36305] Question Description : dwbv_pg_kan_kan_2_q2
2[Option ID=36306]

3[Option ID=36307]
4[Option ID=36308]
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1[Option ID=36309]
2[Option ID=36310]
3[Option ID=36311]
4[Option ID=36312]

Question Description : dwbv_pg_kan_kan_2_q3
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Question Description : dwbv_pg_kan_kan_2_q4
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1[Option ID=36317]
2[Option ID=36318]

3[Option ID=36319]
4[Option ID=36320]

Question Description : dwbv_pg_kan_kan_2_q5
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1[Option ID=36321]
2[Option ID=36322]
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